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Question Number : 1 Question Id : 5832241325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a circuit board allowing communication between CPU. PAM and other hardware devices?
Options:
% Chip
-~ % Processor
# Control unit

2
4 « Motherboard

Question Number : 1 Question Id : 5832241325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 5832241326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The acronym ENIAC stands for:
Options:
; = Electronic Numerical Interpreter And Computer

> » Electronic Numerical Isolator And Computer

- » Electronic Numerical Integrator And Coder

4  Electronic Numerical Integrator And Computer

Question Number : 2 Question Id : 5832241326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 3 Question Id : 5832241327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to computer memory. SDRAM stands for:

Options:
, % Static Dynamic Random Access Memory

5 o Synchronous Dynamic Random Access Memory

- % Static Distributed Random Access Memory

4 % Separable Dynamic Random Access Memory

Question Number : 3 Question Id : 5832241327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FIET AANT & HEsT H THS 1A (SDRAM) & 39 &

Options:
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Question Number : 4 Question Id : 5832241328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The quality of a printer depends on how many are used to print the image.

Options:

, % pixel
> o DPI
- % Dpaper
4 % colour

Question Number : 4 Question Id : 5832241328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
X &1 quraear 37 W R & § & 53 # B = A oaw YT & 2l

Options:
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Question Number : 5 Question Id : 5832241329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A CPU with a clock rate of 2.75 GHz can perform clock cycles per second.

Options:
1 % 275.000,000,000

, % 27.500,000.000
 2750.,000.000
% 275.000,000

Lal

4.

Question Number : 5 Question Id : 5832241329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

FAF 27 2.75 GHz Tma0 U= W9R (CPU) 973 @ FA Ol Foieeg =7 o341 2
Options:

, = 275,000,000,000

- » 27,500,000,000

5 « 2750,000,000

, = 275,000,000

Question Number : 6 Question Id : 5832241330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is faster than RAM?

Options:

, « Cache memory

o R CD
z % DVD
4 % Hard Disk

Question Number : 6 Question Id : 5832241330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Teafaf@a & @ = I3 (RAM) & =7er a7 &7
Options:

1. ¢ ohel HATT
5 % HrEr (CD)
5 ® EIC1E] (DVD)



, « &% 37 (Hard Disk)

Question Number : 7 Question Id : 5832241331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
State whether True or False.

I) Lady Ada Lovelace is known as the first programmer in computer history.
II) A computer is an electronic machine.

Options:
1« IFTrue, II-True

» % [I-False, II-False
5 » I-True, II-False

4 % I-False, II-True

Question Number : 7 Question Id : 5832241331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. 1 l-ger, ||I-|gr
> w |-3Terd, |l-3TeTd
3 % l-gar, -3
4 ® |-°TeId, |l-T&r

Question Number : 8 Question Id : 5832241332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 Set-2
I)  Vacuum tubes A) Third-generation computers
II) Transistors B) Second-generation computers
IlT) ICs C) First-generation computers

Options:
| v I-C.II-B.II-A
5 % I-C.II-AIII-B

2 % [-B.II-C.II-A

4 % I-AII-B.II-C



Question Number : 8 Question Id : 5832241332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 5832241333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
COBOL is an example of:

Options:
, « High-level language

> % Assembly language
- » Second-generation language
4 = Low-level language

Question Number : 9 Question Id : 5832241333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

STl SHFT TS 3107 &
Options:
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Question Number : 10 Question Id : 5832241334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Disk defragmentation is a process to data on the Hard Disk so that the computer can mn more efficiently.



Options:
1 ® €rase

.  learrange
5 % duplicate

clean

®

4.

Question Number : 10 Question Id : 5832241334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 5832241335 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to multimedia. WMA stands for:

Options:
1 ® Wired Media Audio

> « Windows Media Audio
- % Wireless Media Audio
4 # Windows Media Access

Question Number : 11 Question Id : 5832241335 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
FSEIHITSAT F Tesl H TeoguaAv (WMA) &1 7Y &

Options:
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Question Number : 12 Question Id : 5832241336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements is false?



Options:
; w» Machine language codes do not require any translator.

- % Assemble language codes require assembler for translation.
- » Bothmachine language and assembly language are machine dependent.

4  All high-level languages except C— are machine independent.

Question Number : 12 Question Id : 5832241336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T # § #i9-31 34 79 g2

Options:
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Question Number : 13 Question Id : 5832241337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The total storage capacity of a PC having three RAM chips of capacity 2.25 MB. 256 KB and 512 KB is:

Options:
{ ® 2.5MB

> % 0.5GB
s « 3.0MB
4 % 2.75MB

Question Number : 13 Question Id : 5832241337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
2.25 MB, 256 KB 3¥ 512 KB &I F#r: &THams & o 1# (RAM) =9 arer it & o1 sswor
(FSIT=T) &THaT &

Options:

. % 2.5 MB
, » 0.5 GB
-« 3.0 MB
L % 2.75 MB

Question Number : 14 Question Id : 5832241338 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following is equivalent to 2 Gigabytes?

Options:
; % 1024 Megabytes

> % 20480 Kilobytes
5 % 204800 Kilobytes

4 2048 Megabytes

Question Number : 14 Question Id : 5832241338 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
f=afag & o Far 2 femEee & aEy 22

Options:

| 1024 FmETEE
, « 20480 TrelaTEe
. » 204800 TeiarEe
, v 2048 FTETEE

Question Number : 15 Question Id : 5832241339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
BIOS is a permanent software programmed into:

Options:
1 ®# RAM

> « ROM
= % Hard Disk
4 » Floppy Disk

Question Number : 15 Question Id : 5832241339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T (BIOS) F 9 5 o v wm  weaaT g

Options:

. % & (RAM)

, » UA (ROM)

. » &% B%F (Hard Disk)

, « T 3%+ (Floppy Disk)

Question Number : 16 Question Id : 5832241340 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



How many IP addresses are assigned to a computer connected to the Internet?
Options:
1.+ 1

I-2

o> R

L]

3 ®
4.53—1

Question Number : 16 Question Id : 5832241340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T W I3 TF FN F fow g e (IP) 97 T e s 27
Options:

1. ¢ 1

> # 2

2 % 3

4 % 4

Question Number : 17 Question Id : 5832241341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Shorteut key to open a new tab in a Web browser is:

Options:

1 % Cul+F4
- n Ctrl + Alt
3 o Cil+T

4 ® Ctrl+N

Question Number : 17 Question Id : 5832241341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
39 FEAT H AT &F H Wl oMche Fl &

Options:

, % Ctrl + F4
, % Ctrl + Alt
sw Ctl + T
. % Ctrl + N

Question Number : 18 Question Id : 5832241342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Shorteut key to close the Windows START menu is:

Options:



1 % Shift
> % Ctrl
z % Tab
4 « Esc

Question Number : 18 Question Id : 5832241342 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

SIS START A 1 9¢ FTe &1 olleshe Fofl &
Options:

, % Shift

> % Cirl

=z % lab

gt ESC

Question Number : 19 Question Id : 5832241343 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) UPS can be used as an external data storage device.
II) Ethernet addresses are also known as IP addresses.

Options:
1 # I-True, II-False

> % 1-False, II - True
z % I-Tre, II- True

4 « 1-False II - False

Question Number : 19 Question Id : 5832241343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 5832241344 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 Set-2
I)  Disk defragmenter A) Status of running applications
II) Task manager B) Rearrange files stored on Hard Disk
III) NIC C) Connect the computer to the Internet

Options:
{ ¢ I-B.I-ATI-C

> % I-AII-C.II-B
5 % [-C.II-B.II-A
, % I-B.II-C.II-A

Question Number : 20 Question Id : 5832241344 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 5832241345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

GUI stands for:

Options:

, w Graphically Useful Interface
-  Graphical User Interface

- » Graphical User Interpreter
4 » Group User Interface



Question Number : 21 Question Id : 5832241345 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
g3 (GUI) & 90T &9 &:

Options:
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Question Number : 22 Question Id : 5832241346 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Windows-7 has different editions.
Options:

1.+ 6

o B 7

z ® 8

4 % 9

Question Number : 22 Question Id : 5832241346 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fE=-7 & e gEeRoT 2
Options:

1.« 6

2.%-3?
3. % 8
4% 9

Question Number : 23 Question Id : 5832241347 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following editions of Windows-7 contains the fewest features?

Options:
1 # Home Basic

> % Home Premium
o o Starter
4 % Professional

Question Number : 23 Question Id : 5832241347 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
faes-7 & TRy gt # ¥ ad g9g F7 Hewae §7
Options:
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4 % SR

Question Number : 24 Question Id : 5832241348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following can constitute strong passwords?

Options:
, = Passwords containing only numbers

> » Passwords containing only lower-case letters

-  Passwords containing a combination of numbers, letters. and special characters

4 % Passwords containing only upper-case letters

Question Number : 24 Question Id : 5832241348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fafai@a el & & *i9-a1 a9as #a9d gren?

Options:
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Question Number : 25 Question Id : 5832241349 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is NOT a spyware?
Options:

, % Keyloggers
> % Rootkits

5z % Adware

4 « Worm

Question Number : 25 Question Id : 5832241349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
fafefea 7 ¥ Fia-ar Ta=aaT F81 87

Options:

| % F-FER
5 % WEfhe
5 % USAW

4 v A

Question Number : 26 Question Id : 5832241350 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether Tirue or False,

I) POST is a pre-requisite for computer boot process.

IT) During booting process. the kernel of an operating system is loaded into memory at last.
Options:
1 « I-True, II-False

i L False. II - True
= % I-Tre, II - True

4 % 1-False II - False

Question Number : 26 Question Id : 5832241350 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
el o7 TTeTd adT10;

) F=FeX gE 9T & BT POST ve T3-31E3T ¢
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Options:
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Question Number : 27 Question Id : 5832241351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In Unix, directory is treated as a special type of:
Options:

1 « File

-~ % Data



= % Information

4 % Path

Question Number : 27 Question Id : 5832241351 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
faww F sl # F TF IO THR AT AT

Options:

Question Number : 28 Question Id : 5832241352 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is a DOS command to delete a file?

Options:

, # REMOVE
- o DEL

= % DL

4 % RM

Question Number : 28 Question Id : 5832241352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e mEa Fr BT == F7 =579 (DOS) FAE Afafea # ¥ - 272
Options:

, % REMOVE

ot DEL

=z % DL

4 % RM

Question Number : 29 Question Id : 5832241353 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following statements is true?

Options:

. w Transferring files from a computer to the Web is called downloading.

- % [Iransferring files from Web to a computer is called uploading.

- » Copying files from one location to another is called browsing.



4 « Navigating through different webpages is called browsing.

Question Number : 29 Question Id : 5832241353 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

=T # ¥ #i9-91 99 Tar g7

Options:
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Question Number : 30 Question Id : 5832241354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In .RAR files. the “RAR" stands for:

Options:
1 +« Roshal archive

% Remote archive
Reduced archive

Resized archive

®

b L
s

Question Number : 30 Question Id : 5832241354 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
RAR w=al H, “RAR” & T T &

Options:
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Question Number : 31 Question Id : 5832241355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False,

I) Adobe’s Acrobat reader can be used to open .doc or .docx files.
II) Notepad can be used to create text files.

Options:



; & 1-True, II- False
o L False. II - True
z « 1-True, II- True

4 % 1-False II - False

Question Number : 31 Question Id : 5832241355 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Her T TTeg §4T10;

) 33 VR ST FT FANT .doc 37ET .docx Rl W g fohdT ST Hehell g1
Il) eI FHT FANT 918 ($FFL) FIFel T &g AT S Hepell ¢
Options:

o |- = - T
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Question Number : 32 Question Id : 5832241356 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 Set-2
I) NTFS A) Originally debuted with Windows NT
IT) FAT32 B) Optimized for flash drives
IIT) exFAT C)Max. file size 4 GB

Options:
, » I-AII-B,II-C

o w I-C.II-A II-B
2 % [-C.II-B.II-A
4 v I-AII-C.II-B

Question Number : 32 Question Id : 5832241356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



GISIEICGIC IR IR TS
He-1 -2
) NTFS  A) #@ & & 981 NT & |y o® gam
) FAT32 B) weier 3159 & T segsmfod
) exFAT C) 3fram wisa == 4 GB

Options:

pow V=B =B W€
oo 1= 16, =8, (=B
w1 =8, =B, M=
wurd =B M-8, -8B

Question Number : 33 Question Id : 5832241357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The initial release of MS-Word was in:
Options:

1 % 1990

> « 1983
s % 1985
4 % 1991

Question Number : 33 Question Id : 5832241357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TATH J2 (MS-Word) Ugelr 9¥ 3§ I & =T g3 o

Options:

. % 1990
. » 1983
- % 1985
. = 1991

Question Number : 34 Question Id : 5832241358 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of the following is used to display document vertically?

Options:

, w» Landscape

~ % Macro

- u lemplate



4 « Portrait

Question Number : 34 Question Id : 5832241358 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

feafafEa & & 7w ReeT 1 37T sfFgde F Feaer 79 ¥ 92T & # T e 8
Options:

1 ® ﬁ%ﬁ-‘;q

o W ﬂﬁ'ﬂ-

T R étﬁ?

4.&‘:'1_;?

Question Number : 35 Question Id : 5832241359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
are the blank spaces at the top. bottom, left. and right of a page.

Options:
1 % DBullets

> % Cells
= % DBorders
4  Margins

Question Number : 35 Question Id : 5832241359 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

9 H FUT, A, 90 AR aifgs O 91T @relr T S =g FTT 2

Options:

1.8 2

o B m
z ® arlgT
4 o mﬁﬂ

Question Number : 36 Question Id : 5832241360 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following contains the names and addresses of all those intended recipients whom you want to send
invitation via Mail Merge?

Options:
, » Envelop

> « Data Source

5 % Index



4 % Table of contents

Question Number : 36 Question Id : 5832241360 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T A T T e T F AR T A R I T I AR A S AR W
Options:

| # TSI
- v ST WY

Question Number : 37 Question Id : 5832241361 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is used to draw a line through the middle of the selected texts?

Options:
1 #% WordArt

» u ClipArt

- % Hyphenation

4 « Strikethrough

Question Number : 37 Question Id : 5832241361 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
T § o o staas =3fag 96 & o7 # ¥ U @ g F v S S 22

Options:

| % FEHC

o #® Feraame
3 mm
4.@**%%‘{

Question Number : 38 Question Id : 5832241362 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
State whether True or False.

I) Hyphenation allows MS-Word to break lines between the syllables of words.
IT) There are three different types of page orientation in MS-Word.

Options:

1 % I-True, II - True



>  1-True, II - False
% L- False. II - True

4 % 1-False II - False

Question Number : 38 Question Id : 5832241362 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HEr A1 o9 F91C;

) EEEAUT EIRT TATH I8 (MS-Word) # oreel & olesd & &/ o 3% faear =mar 2
) vHTE I= (MS-Word) & gss sf@famarg (3ftvees) & 9 v a1 £

Options:

L ow |- FE - =

5w | - T, - e
e, 1l - e
e, |l - AT

3.53[

4% |

Question Number : 39 Question Id : 5832241363 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The value of the Excel expression =COUNT(100, 99. 98. 97. 96, “95”, “A”, “NULL", “FALSE”. “TRUE") is:

Options:
1.¢ 3
> % 0
=z # TRUE
4 % FALSE

Question Number : 39 Question Id : 5832241363 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TeE HHETOT =COUNT(100, 89, 98, 97, 96, “95", “A", "NULL", ‘FALSE", “TRUE") &1 & &hm.
Options:

1. ¢ 5

2 % 6

= » TRUE

4 » FALSE

Question Number : 40 Question Id : 5832241364 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The value of the Excel expression =RIGHT("EXCEL WORKBOOK". 10) is:

Options:



, v L WORKBOOK
> % EL WORKSHEET
- % EXCEL WORK

4 % EXCEL WORKB

Question Number : 40 Question Id : 5832241364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Taad THIT =RIGHT(“EXCEL WORKBOOK?”, 10) &T HI gI°T:

Options:

1+ L WORKBOOK

. » EL WORKSHEET
= » EXCEL WORK

4 » EXCEL WORKB

Question Number : 41 Question Id : 5832241365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The value of the Excel expression =INT(99.99) is:

Options:

1 ® TRUE
> % FALSE
5 o 99

4 % 100

Question Number : 41 Question Id : 5832241365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TUFHS THRIOT =INT(99.99) &7 A g
Options:

. » TRUE

. » FALSE

3¢ 99

4 % 100

Question Number : 42 Question Id : 5832241366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The cell reference for the range from A12 to E22 is:

Options:

; % Al2, E22

5 « Al2:E22



3 ® Al2-E22
4 % Al2;E22

Question Number : 42 Question Id : 5832241366 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A12 ¥ E22 % &1 T & O 8« Iwig e m:

Options:
,w K12 , E22
¢ A12 : E22
s » A12 - E22
ou A12 5 E22

Question Number : 43 Question Id : 5832241367 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The value of the Excel expression =CEILING(100. 9) is:

Options:
, ® 109

5 o 108
2 % 101
EE 09

Question Number : 43 Question Id : 5832241367 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TeFHe FHERIOT =CEILING(100, 9) T AT &= m:

Options:

1 % 109
> « 108
= & 101
4 % 99

Question Number : 44 Question Id : 5832241368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The value of the Excel expression =IF(40<10. 0. 1) 1s:

Options:
1 ® 40

2@31{}
3_-&3[}

4+ 1



Question Number : 44 Question Id : 5832241368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

UFHS THRIOT =IF(40<10, 0, 1) T AT gF:
Options:

1 = 40

- % 10

2 % 0

4 ¢ 1

Question Number : 45 Question Id : 5832241369 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or Falsz.

I} In Excel, the default alignment for texts and mumbers is lelt and rght, respectively,
II' HLOOKUF looks for a value in the top row of a table or array and retoms the value in the same colunn from a
row you specify,

Options:

1 « I-True, II-True
> % 1-True, II - False
- % L- False, II - True

4 % 1-False II - False

Question Number : 45 Question Id : 5832241369 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TEI AT T FAIT,

|} THEE H 98 it FEIr & Rv Rwee giger &R0 a7e AT arfEer 2 2
1) HLOOKUP Tl e o7 o7 & mas 97 I 9fFa # e 3sg & @ =1 § i oo
fafese I & 36 S8 #§ 98 59 T@4 FLT F

Options:

Lo |- T -
Har, Il - I

> % |-
s w |- 7o, |l - JE
R A

Question Number : 46 Question Id : 5832241370 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following.

Set-1 Set-2

I) Goal Seek A) Finds solutions to problems involving multiple
variables and constraints.

IT) Solver B) Allows to create different set of values that produce
different results.

IIT) Scenario Manager C) Determines the input required to produce the desired
results.

Options:

| % I-B.II-C.II-A
, « [-C.II-B.II-A
5 v [-C.II-AII-B
4 % [-AII-B.II-C

Question Number : 46 Question Id : 5832241370 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e od # 3Ee &1
par HE-2
I) 7 Hie A) F= afiTas 3T Gt (FEEee) 9T THEDTHT &7 &4
33T 2
i) BT B) vo= ¥ Rfees o w=an § = Rl afors &7 8
Iy Fafrr #aem C) e IO O F WU wEaE gAqe e w e d
Options:
; «1-B,N-C IIl-A
- ul-GC, Il =B, ll -A
gupd =G U A - B

cn 1 =Bl = Bolll- €

Question Number : 47 Question Id : 5832241371 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Google was founded in:

Options:
. % 1996

5> « 1998
= % 1999
4 % 1995



Question Number : 47 Question Id : 5832241371 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TS T FAT9AT 39 99 H ge o

Options:

. % 1996
. » 1998
- = 1999
. % 1995

Question Number : 48 Question Id : 5832241372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements about Google is false?

Options:
, » Google is a search engine.

-~ » Google was founded by Larry Page and Sergey Brin.

5  Google is also an operating system.

4 = Google is specialized in internet-related services.

Question Number : 48 Question Id : 5832241372 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T & FEY H AR § ¥ #A- Fud To0d 32
Options:

AT Ueh @I S g

IETS HT TATIAT o O 3T TR o F #r o

o B oo

. o T T AR fwen o gl
, « FEEE W AR WA & A el ARISe B

1 %

Question Number : 49 Question Id : 5832241373 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following does NOT support video-conferencing?

Options:
, % Skype

> o Twitter
- » GoToMeeting

4 ® Google + Hangouts



Question Number : 49 Question Id : 5832241373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fFeatofaa # o &w ¥ Siftar F=6&er @1 &7 Fhdr?
Options:

i ® JE|;|$
> o e

-

TMeEaTTeeT

=z B &

4_$w+éﬁm

Question Number : 50 Question Id : 5832241374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following protocol is used to download e-mails from the e-mail servers?

Options:
. & FTP

> % PUSH
s « POP3

Question Number : 50 Question Id : 5832241374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
S-HT §SY ¥ -39 IEAAE F & v RafEe § 9 By qewe & 3uaer G S e 82

Options:

% FTP
. % PUSH
- v POP3
4 #« DNS

Question Number : 51 Question Id : 5832241375 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
State whether True or False.

I) ARPANET was the first network to implement OSI protocols.
IT) Gmail is an e-mail service provided by Google.

Options:
1 » I-True, II-False

>  1-False, II - True

z % I1-True, II- True



4 % 1-False II - False

Question Number : 51 Question Id : 5832241375 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Her T TTeIg 9910

) 3TEATS (OS|) FEIHIA HI AR FA AT Tgol AAcdep THRAT ¢’ (ARPANET) o)
) SfFe (Gmail) TF $-3F FGT § S IETA SaRT FaIT Hr AT 8l

Options:

L ow |- T - e

o o |- 7, Il - '

- ow | - W& - HEY

L w | - 7, Il - e

Question Number : 52 Question Id : 5832241376 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Match the following.

Set-1 Set-2
I) Web server A)URL
IT) Browser B) Client
IIT) Web address C) Host
Options:

| % I-AII-B.II-C
, » I-C.I-B.II-A
o« [-C.II-AII-B
o # I-B.II-AII-C

Question Number : 52 Question Id : 5832241376 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

=T F Fee s
-1 -2
) 3§ ®aT  A) IHRTA (URL)
Il) §I35T B) Femse
Il) 3 T2F C) FE< (Host)

Options:

 wl-ANl-Bl-C



sl =8 28, [l = &

s l-C ll-A Il -B
Lx =B Il-All-C
Section Id :
Section Number :
Section type:

Mandatory or Optional:

Number of Questions:

Number of Questions to be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

Question Id : 5832241377 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (53 to 57)
Juestion Label | Comprehension

READING COMPREHEMNSION

583224183
2

Online
Mandatory
1

1

5

Yes

No

1
583224183
Yes



Read the following passage and answer the questions given after
it.

What is noise? Any unpleasant sound is noise. It’s something we
don’t like. It’s something that makes us cover our ears - the wail of

a fire engine. a clap of thunder, the screech of a car’s tyres when the
brakes are put on suddenly.

How much sound 1s too much? What level does sound become
noise? Well today sound can be measured scientifically. The level
of sound i1s measured in decibels. A decibel meter is used to register
sound. Zero decibel i1s equal to the faintest sound heard by the
human ear. A decibel meter in a quiet bedroom may register around
35 decibels. In a classroom it may register around 50 decibels. This
level is comfortable on the ears. It is said that most people speak in
a range between 45 and 75 decibels.

Noise damages ears at 85 decibels. Hearing loss can begin when the
noise level goes above 100 decibels, and actual pain is felt at 140
decibels.

A doctor in West Germany. after studying the effects of noise.
concluded that sounds heard by persons when they are asleep can
cause danger to their hearts and blood vessels. Noise causes the
blood vessels in the brain to expand. This causes pain of various
kinds.

Another doctor was researching the effects of loud music by talking
to players in a rock band. One of them called out. “Speak up. Doctor.
we can’t hear you.”

The doctor discovered that all the players suffered from hearing loss
and two of them were partly deaf. The noise level of the music they
played ranged from 105 to 115 decibels and they played for more
than eleven hours every week.

Sub questions

Question Number : 53 Question Id : 5832241378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Of the following sounds which

one cannot be called noise?
Options:
; w Clap of thunder.

> % Screech of car tyres.
5 A melodious song.

, % Wailing of a fire engine.



Question Number : 54 Question Id : 5832241379 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A decibel meter is an instrument that
Options:

1 « measures sound

> % prevents hearing loss
= % controls the volume of sound

4 » helps cure deafness

Question Number : 55 Question Id : 5832241380 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How does noise at 85 decibels
affect the human beings?

Options:
; = Itcauses pain in the ear.

- o It damages ears.
5 % It causes complete deafness.

4 » Hearing loss begins.

Question Number : 56 Question Id : 5832241381 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Choose the option which is false.

Options:

, w Noise can cause danger to the heart.

- % Noise can adversely affect blood vessels.
-  Noise can cause breathing problems.

WNoise can cause blood vessels
4 % of the brain to expand.

Question Number : 57 Question Id : 5832241382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the message that i1s NOT conveyed
through the passage?

Options:

| Don’t speak softly.

> % Keep the volume of television /radio low.

5 » Don’t bang doors.



, » Ban the use of loudspeakers.

Question Id : 5832241377 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension
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Sub questions

Question Number : 53 Question Id : 5832241378 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T aFar 7 o &g o a4
chel =T Hebhdl?

Options:

| % TSt & FEE (FAT AHE U
. % HR & T & fOHa &7 mEa
T AR AT

3 v

4 % GCHPol &Rl HIAI{A

Question Number : 54 Question Id : 5832241379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

SHES HeT T IIFIOT F
Options:

| v & A9 T
5 % HFUT §H W §=IT

5 % G FOX F FIRET =

, % T H EF FA FH

Question Number : 55 Question Id : 5832241380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

85 3HEe W Al AT & HH Fofad
FIaT 2

Options:

, % TE T H G UeT FIA g
, , TE FF FN FEAT T g

. x T8 T FEXTA F FHROT T E

s HEUT ETH E & AT gl

Question Number : 56 Question Id : 5832241381 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
ag ReeT I = 7T 2

Options:
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Question Number : 57 Question Id : 5832241382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

5T o@ ¥ Feafoiad J ¥ Sia-ar
T Aar Hear?

Options:

| v B! HETH H a9 F F

o % CANAAARTSIT FT LA FA W
i WEQFEN?FHH#I

4 % CIBSTOR & FANT W i S|

CUANTITATIVE APTITUDE
Section Id : 583224184
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 583224184
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 5832241383 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When 3626 is divided by the square of a number and the answer so obtained is multiplied by 32. the final answer is
2368, What 15 the number?

Options:
1.¢ 7
> % 30
= % 49
4 % 6



Question Number : 58 Question Id : 5832241383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

3626 @ fordly wear & 97 ¥ fasniaa & W 9ed AT # 32 ® IO A W AAA e
2368 fBear g1 I8 g&ar =T 22

Options:

1. ¢ 7

4%-35

Question Number : 59 Question Id : 5832241384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Seema sold a mobile phone ar the cost of T 1,950 at a loss of 25%. At what cost will she sell it to ger a profit of 307

Options:
; % 3,300

5> # T 2.600

o TSI

4 o T3.380

Question Number : 59 Question Id : 5832241384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FIAT TF AESE T T 25% ¥ JFA 9T 1,950 7 A= §1 30% AW O o BT 3w oF B
T ST 97 g STET?

Options:

,x T 3,300
_—
on X 2535
4.0 T 3,380

Question Number : 60 Question Id : 5832241385 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Faisal walks 325m every day. How many kilometers will he walk in four weelks?
Options:

1 ® 6.2

2 9.1

=z W 3.6

4 ® 7.8



Question Number : 60 Question Id : 5832241385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e gfafes 325 HeX Toar g1 9] g%ar H 9g forae FadeT seem?
Options:

1 # 6.2
> « 9.1
2 % 8.6
4 % 1.8

Question Number : 61 Question Id : 5832241386 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The income of a father and his son are in the ratio of 3:3 and their expenditures are in the ratio of 9:3. Their savings ane
% 1.300 and ¥ 900, respectively. Find the income of hoth the father and the son.

Options:
1. < 4,000, 2.400

5 ® ¥ 3.000.% 1.800
- % T5.000. T 3.000

4 R < 4.500.% 2.700

Question Number : 61 Question Id : 5832241386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
v R 3R 38 93 Fr 3 F 3 50 3 R wEt F AT 9 1 5 F| SR q=T FA:
% 1,300 R T 900 ¥ far Ak 99 &t Fr 3w AT =+

Options:

.« T 4,000, T 2,400
, % ¥ 3,000, T 1,800
. » ¥ 5,000, ¥ 3,000
. » T 4,500, T 2,700

Question Number : 62 Question Id : 5832241387 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The first mumber is twice the second number and half the thivd number. The average of these munbers is 35, What 15 the
valiie of the stnallest number?

Options:

1 o 15

A 30

=z B 45

4 ® 60



Question Number : 62 Question Id : 5832241387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

TEH! HET SEA FEm ¥ I i i A am f T HEmat & iftes a5 F mmE o
TEOT T °HT AT &7

Options:

1« 15

Question Number : 63 Question Id : 5832241388 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Radius of a circle is increased by 200%. What is the percentage increase in the area of a circle?

Options:
1 % 300%

5 % 400%
5 % 500%
4 « 800%

Question Number : 63 Question Id : 5832241388 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T o S F 200% Fr R A A & IoT F aFFa # gg e T F=w FE?

Options:

{ = 300%

o % 400%

- = 500%

4« 800%

GEMEREAL MEMTAL ABILITY AND REASONING

Section Id : 583224185
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section Id: 583224185
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 5832241389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How many fowr letter imeanmgiol words can be fonped starting with S, with the second, foerth. fifth and eighth letter of
the word “PERISHELY . using each letter only once in each word?

Options:

1 « One

~ % Two

3 % Three

4 % More than Three

Question Number : 64 Question Id : 5832241389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1.+ Uk

g_éﬁaﬁ-
3_53?-?!?{

Question Number : 65 Question Id : 5832241390 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What term should come next in the following letter series?
TSRQPONMLTSRQPONTSRQPTSR

Options:
1.¢ T
o R R
=z B N

4% Q

Question Number : 65 Question Id : 5832241390 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Aol HeR @ & 397eT 9 HIA-HT gem?
TERAQPONMLTSRQPONTSRQPTSR

Options:
1. T



2 % R
SMN
4 % Q

Question Number : 66 Question Id : 5832241391 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Mohit mans 10 Jan south from his howse, toms left and mns 25 lan. agaim tons left and nms 35 ko, then tums right and
mus 5 kan to reach the office, What is the divection of office from his house?

Options:

1 % South-East

> % North
= % South-West
4 +« North-East

Question Number : 66 Question Id : 5832241391 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1 ® E‘F@'UT-@
> #® Jodl
- % GIEUT-9feErH

4

Question Number : 67 Question Id : 5832241392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Pointing to Radha. Divya says. ““She is only daughter of my father-in-law.” How is Radha related to Divya?

Options:
1 ® Niece
> o Sister-in-law

- u Daughter-in-law

4 % Sister

Question Number : 67 Question Id : 5832241392 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:




1_$34Fﬁ3ﬂ'
> o TA9C

3_%‘33{
4_&33_5?.

Question Number : 68 Question Id : 5832241393 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Choose the odd one out.
Options:

1 & XW

o o FG

2 % ML

g % PO

Question Number : 68 Question Id : 5832241393 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
IEITA FT A

Options:

1 & XW
- « FG
=z % ML
4 % PO

Question Number : 69 Question Id : 5832241394 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If * stands for /. — stands for =, / stands for + and + stands for —. then:
(3—-15/19)*8+-6="7

Options:
.

3
2_-&3—1

I-2

3 &
4 % -1

Question Number : 69 Question Id : 5832241394 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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(3-15/19) + 8 + 6 T T FAT =M

Options:



- % 4
3¢ 2
4 % -1
GEMERAL AWAREMNESS
Section Id : 583224186
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 583224186
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 5832241395 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is the headquarters of Federal Bureau of Investigation (FBI)?

Options:
1 # Abu Dhabi

~ % Geneva
-z % London

4  Washington. D.C.

Question Number : 70 Question Id : 5832241395 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1. ® e ! Al

S

- B wIEeT

. » TR, EEn(D.C.)

Question Number : 71 Question Id : 5832241396 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
International Mothers” day is observed every year on:

Options:
1 #% December 11

> % November 29

ol 224 gunday of May

4 = Second Wednesday of October

Question Number : 71 Question Id : 5832241396 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 72 Question Id : 5832241397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who formulated the ‘Drain of Wealth® theory?

Options:
, « Dadabhai Naoroji

> % M. G. Ranade
= % R.C. Dutt
48 B.C. Pal

Question Number : 72 Question Id : 5832241397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1.Jmm
> % TH. L TS
5 % X HI. gcd
4 ® 91 L 9T

Question Number : 73 Question Id : 5832241398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Who among the following was awarded with the 2016 “World Statesman Award™?
Options:

1 # David Cameron

-  Francois Hollande

- % Dr. Manmohan Singh

4 % Stephen Harper

Question Number : 73 Question Id : 5832241398 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 74 Question Id : 5832241399 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Geoff Boyceott is associated with which of the following games?
Options:

, » DBoxing
> # Golf

3 « Cricket

4 ® Swimming

Question Number : 74 Question Id : 5832241399 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 75 Question Id : 5832241400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Who is the author of the book ‘INDIA OF MY DREAMS™?

Options:
1 % Dr. Babasaheb Ambedkar

> « Mahatma Gandhi
- » Gurudev Tagore

4 % Pt. Jawaharlal Nehru

Question Number : 75 Question Id : 5832241400 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Shuffling Allowed : No

Question Number : 76 Question Id : 5832241401 Question Type: TYPING TEST Display Question Number : Yes

Wornen's History Month is an annual declared month that is traditionally held in March, but the study of
woITlen's history is wvaluable all twelve months of the year. Wormen have overcome daunting odds to succeed
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and

exploration.
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Question Number : 77 Question Id : 5832241402 Question Type: TYPING TEST Display Question Number : Yes



India and China both have a surplus of males, bat it is only India, which has an out of control rape epidernnic.
Last year, on Women's Day, a 15 year old girl was raped and set on fire. The same year, an Indian womarn,
within hours of giving birth to a child, was raped in a hospital near Mew Delhi. Some people in India took
consolation in the fact that at least she was not, like Nirbhaya, who was beaten with iron rods, gang raped,
and tortured in a private bus, while she was travelling with her boyfriend. Just after this incident, new laws
and new fast-track courts were promised, as a result of an international outrage over her assault and
subsequent death. More women are now willing to report rape cases. But, the father of MNirbhavya claims that
the promises of reform were unmet and that justice in India has failed his daughter and wormnen like her.
Indeed, Amnesty International reports that authorities hawve not effectively implermented new laws on crimes
against wornen. The majority of rape cases still go unreported. This implies that the problem is getting worse
than ever. A worman is reportedly raped every 15 minutes, in India. 50, if we multiply that by 24 hoursin a
weoelk and 365 days a vear, the resultant figure would be really shocking. Also, it should be noted that the
majority of rape cases still go unreported. The statistics on Crime against wormen is everl worse. Every 2
minutes, a worran in India is a victim of a crime. This ongoing issue with violence against wormen raises the
real and serious question of whether India is truly ready for a seat on the global table. One explanation for the
ongoing rape problern 15 the skewesad sex ratio. Like China, India has a massive irnbalance in its sex ratio.
According to the Indian census, the sex ratio in the € and below age group has increased from 102 4 males per
100 fernales in 1961 to 108.9in 2011, Economists and sociologists call this as the Bare Eranches
phenomenocon, which is a result of fermale feticide over a very long period of time. [t is a major issue that both
India and China have in cormmon. The boy babies are culturally preferred over girls in both the countries.
However, the surplus of males in China does not appear to be leading to a rape crisis there. In fact, research
has found that while China has seen an uptick in general violence, they actually tend to behave gently arcund
WOrnen. & sirmple answer points to the Indian caste systern. In most of the Indian communities, wornen are
placed lower than mern.
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